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 OE.AAREHI), RARXIEPRREF A -1 =434y AU B3 (x,y) =(1,0),(25, £6).
K] R T oy AR B AT Rl AR
HPESHES 0155 MEKPRERD A

FFAREFFE 1 =Dy (D>0) BE AP TAE. 24 D J 6k +1 TR FH , Ao im o
A MR CEE RS AGR]. B2 DA 6k + 1 JEZR PR, 75 FE A SK A L5 TR HE. a4 az 38 I 45091
) A2 BRI TR E R o0 — 1 =434y (U HEU# (x,y) = (1,0),(25, £6).

513 11 R A -3yt = L AU REUR (v, y) = (£1,0),(2,1),(7,2).

5132 AE R4 -3y =1 U R (v,y) = (£1, £1).

EE AETR:

o -1 =434y (1)
HABLUR (x,y) =(1,0),(25, £6).

R BN (2 -1, + a0+ 1) 55T 1803, HORE R4S R 31 8 Bl BB /3% «

(1) x-1=434a’ & +x+1=b",y=ab; (1) x-1=62a",x" +x+1=7b",y =ab;

(M) x-1=14a’ " +x+1=310",y=ab; (V) x—1=2a",x" +x+1=217b",y = ab;

(V) x-1=42a> " +x+1=93b",y =3ab; (VI) x-1=186a",x> +x +1 =210,y =3ab;

(V) x-1=1302a" ,x" +x +1 =3b0>,y =3ab; (V) x =1 =6a",x" +x +1=651b",y =3ab.

AR 73 5ilitieik 8 gl iraa =X (1) [

(1) Mo +x+1=b0",x=08% -1 f0A x -1 =434a" HRIES IZEL LK (1) 11

(1) Hx-1=62a 1 x=1,7(mod8) LA x> +x +1 =7b" 18 b*=5,7(mod8) , It T RE, W% ¥ o
(1) BB

(M) fx-1=14a" 1 x=1,7(mod8) XA «* +x +1 =310 13 b =5,7(mod8) , BLAS A i, UL NETE T
(1) BB

(V) Hx-1=2a" 1 x=1,3(mod8) ,fUA «° +x +1 =217b> 1§ b° =3 ,5(mod8 ) , BLA P B, BiZAE I TC
(1) W H.

(V) Ha-1=42a" ff x=1(mod7) ,fCA &* +x +1 =93b* £ b> =5(mod7) , BLA ] RE, WL TE T
(1) BB

(V) f1a® +x+1=216"f3(2x +1)* =21(2b)* = -3, x =1 =186a° {CAFF(3724° +3)% -21(2b)* =
-3, X X =21 = -3 PSSR, A -

(372a> +3) +2b V21 =x, +y, V21 =
(9 +2 V21)(u, +v, V21) = (9 +2 /21)(55 +12 /21)"

s H #5:2010 - 10 - 28; & [E] H #§:2010 — 12 - 03.
EFZ B i (1987 - ) 2 INERIGYT A A AF58 4 , N AEGE 5 I AFSE .
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XH nez, Hrp9+2 V212 pell X -21Y = -3 AR ,55 +12 /212 pell 2 X° 21V =1 547,
FRA x, =372 +3, GyITE F A5 RO :
un+2 = 11Ou“n+1

v =110v ,, — v

n+2 n+l no

n’u() = l’ul = 55

vy, = 0,0, =12

- u

x, =9u, +2 x2lv,

SRR A § c,, | IR 7 XRAIE B,

Xt B o, | BUE 5, 11, IR FH WA 4, n=0,1(mod4) i}, # x, =4 (mod5) , B} 24
1(mod5) , ;X AAJfE. F T n=2,3(mod4). 4 n=2,3(mod4) i}, A5 x, =2(mod11) , Bl 9¢’ = =1 (modl1) , X
ANATRE. SO TE (1) B SR

(V) Ho® +x+1=30"1(2x +1)* =3(2b)> = =3 x -1 =1 302a" fLAF(2b)> =3(868a” +1)° =1,k
A 12b] + (868a” +1)3 = (x, +y,+/3) =(2+43)" ,n=1. i 2 +3 /& pell J57F2 X* -3Y =1 [{ILASR. HUA -

868a” +1 =y, (2)

GyRAlE NI SC R AL v, =4, —x, 5,00 = 1,x, =25y, =4y, =¥,5,% =0,y, =135, =2x,_, +
3y, 1 2Ya =Xy 25,1 5%, =%, +3Y, 75, =22,

W 210, 2 21y, , 3 (2)1=0(mod2) , X AHFE; WL n=3(mod4) , f y,=7(mod8) , l1 =X (2)
2¢°=3(mod4) ,XWAARE. FFLIA n=1(mod4). 2 n=4m+1,4

868a° =Ymer — 1 = x4, +2y,, -1 = xim + 3y§m + 4%, Y5, — 1 =

69’3," + 4%, = 22, (3Y2 +2%5,) = 295, %,
Ap 4344 =Yom¥om +1-
R(yZIn ’x2m +1 ) = (y2m, ’3y2m + 2x2m) = (yZm ,2x2m> = 2 ?E?Ly\ﬁ—l:‘ylj‘ﬁ%ﬁﬁ/;zgjﬁj:

Xypoy = 804 Y,, = 43417 (3)
Xy = 43457y, =1 (4)
Nypry = 250,y = 2170 (5)
Xy = 21757y, =21 (6)
Xy = 187y, = 620 (7)
By = 6257y, = T (8)
Xy = 3157y, = 141 (9)
Xy = 145y, =311 (10)

Ha=st;s,tez T n=1(mod2) it ,x, =2(mod4) , l1X (3) MATIAG s> =2 (mod4) , LA H] BE, B
(3) Fffe. M AT A3(6) (7) (9) Tfif. A (4) W y,, =0 a5, =30 =1, HgIB 1 H = +1, £2,0, 1)
Yo =1,4,0,m =01 #AT L (4) aT, el (4) ot Bl (5) 1 xy,,, =28 13 45" =33, =1, B3]
B2 Ay, = =1, Blm=0, - 1. HY m= -1 BEAES (5) MG, MY m =0 B, 4 y, =217¢ 8 t =0 M\
Ma =0, X8zs 1 17 (1) B MU (x,y) = (1,0). X5 F20(8) , 24 n=1(mod2) i}, x,=2,5,10,11,20,21,
26,29 (mod31) , R} 0=2,5,10,11,20,21,26,29 (mod31) , FJ& , ik (8) T ¥ F=(10),24 n=1(mod2)
B, B x,=2,12(mod14) , Bl 0=2,12(mod14) , 77 JF. #=(10) JofF.

oztg gt 7D B U (x,y) = (1,0).

(VI i x” +x+1=6516" 18 (2x +1)> -651(2b)% = =3 0l x -1 =64" AR (124> +3)° =651 (2b)° =
-3, X X* =651y = -3 HAfg—eE a2, i f

(12¢°> +3) +2b /651 =«x, +y, /651 =

(51 +2 /651)(u, +v, /651) =
(51 +2 /651) (1735 + 68 /651)"



%5 BAH AT FEH B -1 =434y 465

XH nez, H 51 +2 /6512 pell FE X> —651Y* = =3 [RILAM 1 735 +68 /651 2 pell L X* 6517 =
1 HEA .

TIEA x, =12a° +3,81(12¢)* =12(x, =3) , HHUE FHIC R ML -

wa = 3 470u u, = lyu, =1735
Vo =34700,,, —v,,v, = 0,0, =68 (11)
x, = 5lu, +2 x 651y,

R IR P8 { v, § IR RS 7 ORAIE B

X IAE {x, | U S, BIRZEF SR 4, n=2,3 (mod4) B, 4 x, =4 (mod5) , i1 x, =12a" +3
24" =1(mod5) , i XAAfE, T n=0,1(mod4).

T, LA R v, | IBORE RS 27 W 2 Xof LA A 288 47 Rl S AT R, 3k S B T DACHIR IS 11 80 % 288 Jr Xof iz )
K . #5511 HERR n=1,4(mod12) , Ji 12¢° =6 (modl1) , % F n=0,5,8,9 (modl2). [FH, % {x, | LA
59,23,193,158] n=0(mod24 ). AT AFFE] : X { x, | 7370 HUEE 71,169 639, A 15 n=0(mod10). X} {x, | 535
HUAE 29,20 047,839 ,32 423 , A48 n=0(mod56). £ [ B 1 F il 12,

u n+l un’

n = 0(mod24)
{n = 0(modl0)
n = 0(mod56)

HINFEBEA1E n=0(mod3 360). #F n#0, M7 4 n=2x2" x3x5x7 x[,Hdrr=22Y1, 5 Hxf{2"}
e 102, A5 4k 8 TR LT A, #%
3.2, r=0,1,2,4,5,7(mod8)
m = [15 <2 r=6(mod8)
352", r=23(mod8)
A m=6,12,24 48,54 ,78 ,90,96 (mod102) , it n =2kml, Hrr k RA-%0 INTTA %, = % (1) com = =%,
(modu,, ). # x, = x,, (modu,, ), 24 m =0 (mod4) B}, u, =1(mod8),v, =0 (mod8),u,, =u’, +651v,
1(mod8) , TJ&A :

12(x, - 3) _ 12(x,, —3) _ 12(51u,, +13020,, =3)\ _
( )= )= )

u2m U’Zm U’Zm

(24 X6511jm)(31}m +2um) B ( 3v, +2u, ) :
u. + 6510,

2 2
[ %ym + u, j _ (WJ _ [32613j _ (3”"1 + 2um)
W+ 6510 20t ) 2613

Xt {3v,, +2u, | UL 2 613 75 F53#0 4 102 RIREFH). 24 m=6,12,24 ,48,54,78,90,96 (mod102) i}, A

i) s 25 1

# 0, = =y, (moduy,, ) WEALHH -
(12(x,, —3)) _ (12( - X, —3)) _ (12( - 5lu,, - 13020, —3)) _

Uppm Upp

U‘Zm, u2m u2m

3

(24 X 651”,;;)(31}111 - 2u’m) — ( 31}1}1 - 2u’m ) — ?’Um - um —
Uy, Uy, ul, + 6510 m

2 2
Sn —v, —u, 2 613
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3.2,r=0,1,3,4,5,6(mod8)

m ={15-2" r=2(mod8)
35 2" ,r = 7(mod8)
12 -3
el ) < 1

FIrhn =0, Aifi 126 +3 =x, =51,a = =2, lILA fF x =25,y = =6 XA (1) BIEEUR (v,y) =
(25, +6).
it LIRS MTHEZE I, R iR o — 1 =434y" (A REUR (v,y) = (1,0),(25, £6).
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On Diophantine Equation x -1 :4343/2

CHEN You-yan

(School of Mathematics and Statistics , Southwest University, Chongqging 400715, China)

Abstract; In this paper, the author has proved that the Diophantine equation x° — 1 =434y” has only integer
solution (x,y) =(1,0),(25, £6) by using recurrent sequence and congruence expression.
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Uniform Convergence of the Generalized Integral with Parameters

ZHAO Wen-qiang
(School of Mathematics and Statistics, Chongqing Technology and Business University,
Chongqing 400067, China)

Abstract; The uniform convergence of the generalized integral with parameters is studied. The sufficient and
necessary condition of uniform convergence is given based on the definition of the uniform convergence, and Cauchy
test, differential method and series method of discriminating the uniform convergence are also given. The proofs and
practical examples are also covered.

Key words: generalized integral with parameter;uniform convergence ; Cauchy test; differential method ; series

discriminating method
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